One Wide Locker Assembly
Step 1: Attach the top shelf and bottom shelf to the back panel.

TOP SHELF,
TWO ADDITIONAL SLOTS NEAR FRONT

BACK PANEL,
FLANGES FACING SHELVES

BOTTOM SHELF, SIMILAR TO TOP SHELF

Step 2: Turn the back panel onto its back with the shelves pointing
upward. Attach the first side panel, the left rear leg, and five compartment

dividers to the assembly from Step 1.

COMPARTMENT DIVIDER (5)
45° FLANGE AT FRONT

90° FLANGE AT REAR AND
FACING BACK PANEL

FIRST
SIDE PANEL,
UNIVERSAL

LEFT REAR LEG \BACK PANEL

SLOT FACING SIDE PANEL

Step 3: Attach the second side panel and the right rear leg to the

assembly from Step 2. The locker chassis is now complete.

SECOND

SIDE PANEL,
UNIVERSAL
90° FLANGE AT REAR AND
FACING BACK PANEL
RIGHT REAR LEG
SLOT FACING SIDE PANEL

Step 4: Attach the pre-assembled door frame onto the assembly from Step 3.

PRE-ASSEMBLIED
DOOR FRAME

Step 5: Tighten all fasteners, ensuring the locker remains square during
the process. If desired, attach optional sloping hood, end bases, or front
base (see pages 4 and 5).

Step 6: Place the locker in the installation location and anchor to the
floor, wall, or both. Individual job conditions will dictate the type of
fastening anchors to use (not provided).

Step 7: Fasten all lockers in a row together by installing fasteners
provided through the side panels. Installation is now complete.

Three Wide Locker Assembly
Step 1: Attach a top shelf and a bottom shelf to a back panel.



12” Wide See-Through Lockers — S-65000 / S-66000 Box

Style Installation Instructions

TOP SHELF,
TWO ADDITIONAL SLOTS NEAR FRONT

BACK PANEL,
FLANGES FACING SHELVES

BOTTOM SHELF, SIMILAR TO TOP SHELF

Step 2: Turn the back panel onto its back with the shelves pointing
upward. Attach the first side panel, the left rear leg, and five compartment
dividers to the assembly from Step 1.

COMPARTMENT DIVIDER (5)
45° FLANGE AT FRONT

90° FLANGE AT REAR AND
FACING BACK PANEL

FIRST
SIDE PANEL,
UNIVERSAL

% LEFT REAR LEG \ BACK PANEL

SLOT FACING SIDE PANEL

Step 3: Attach a second top shelf and a second bottom shelf to a second
back panel (as in Step 1).

Step 4: Simultaneously attach the assembly from Step 3, a second side
panel, and five additional compartment dividers to the assembly from
Step 2.

COMPARTMENT DIVIDER (5),
45° FLANGE AT FRONTW

SECOND SIDE PANEL,
90° FLANGE AT REAR AND
FACING STEP 2 ASSSEMBLY

STEP 3 ASSEMBLY

Step 5: Attach a third top shelf and a third bottom shelf to a third back
panel (as in Steps 1 and 3).

Step 6: Simultaneously attach the assembly from Step 5, a third side
panel, and five additional compartment dividers to the assembly from
Step 4.

COMPARTMENT DIVIDER (5),
45° FLANGE AT FRONT

90° FLANGE AT REAR AND
FACING STEP 4 ASSSEMBLY

STEP 5 ASSEMBLY

Three Wide Locker Assembly (continued)

Step 7: Attach the last side panel and the right rear leg to the assembly
from Step 6. The locker chassis is now complete.



12” Wide See-Through Lockers — S-65000 / S-66000 Box

Style Installation Instructions

N LAST SIDE PANEL,
90° FLANGE AT REAR AND

/ FACING STEP 6 ASSSEMBLY
RIGHT REAR LEG
SLOT FACING SIDE PANEL

Step 8: Attach the pre-assembled door frames to the completed locker
chassis from Step 7.

PRE-ASSEMBLED
DOOR FRAMES

Step 9: Tighten all fasteners, ensuring the locker remains square during
the process. If desired, attach optional sloping hood, end bases, or front
base (see pages 4 and 5).

Step 10: Place the locker in the installation location and anchor to the
floor, wall, or both.

Individual job conditions will dictate the type of fastening anchors to use
(not provided).

Step 11: Fasten all lockers in a row together by installing fasteners
through the side panels. Installation is now complete.



12” Wide See-Through Lockers — S-65000 / S-66000 Box

Style Installation Instructions

Sloping Hood Installation (Optional)

Step 1: Attach the top panel to the rear panel using #10-24 x 3/8” slotless

screws and #10 nuts (provided). Position the flange of the top panel
behind the rear panel.

TOP PANEL

FLANGE BEHIND
REAR PANEL

REAR PANEL

Step 2: Attach the side panels to the top panel and rear panel. Sloping
hood assembly is now complete.

TOP PANEL

SIDE PANEL (2)

Step 3: Attach the sloping hood to the top of the locker with slotted #8 -
32 screws (provided).



12” Wide See-Through Lockers — S-65000 / S-66000 Box

Style Installation Instructions

Front Base Installation (Optional)

Position the front base between the front legs of the locker with the flange
upward. Attach to the locker legs with #10-24 x 3/8” slotless screws and
#10 nuts (provided).

ASSEMBLY
FROM STEP 2




12” Wide See-Through Lockers — S-65000 / S-66000 Box

Style Installation Instructions

21D End Base Installation (Optional)

Position the appropriate end base (right or left) behind the corresponding
side legs (right or left) of the locker with the flange upward. Attach to the
locker legs with #10-24 x 3/8” slotless screws and #10 nuts (provided).
Repeat for the opposite side.

FLANGE
UPWARD

FRONT BASE




12” Wide See-Through Lockers — S-65000 / S-66000 Box

Style Installation Instructions

UNIVERSAL END BASE

: RIGHT SIDE

UNIVERSAL END BASE
LEFT SIDE




	One Wide Locker Assembly
	Three Wide Locker Assembly
	Three Wide Locker Assembly (continued)
	Sloping Hood Installation (Optional)
	Front Base Installation (Optional)
	End Base Installation (Optional)

